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QUESTION 1

Which two primary metrics does Meraki Insight use to calculate the Application Performance Score? (Choose two.) 

A. Maximum Jitter 

B. Total Bandwidth Usage 

C. Maximum Latency 

D. Per-flow Goodput 

E. Application Response Time 

Correct Answer: DE 

Reference: https://cloudcontrolled.uk/wp-content/uploads/2018/08/MerakiInsight.pdf (04) 

 

QUESTION 2

Which design requirement is met by implementing syslog versus SNMP? 

A. when automation capabilities are needed 

B. when proactive alerts for critical events must be generated 

C. when organization-wide information must be collected 

D. when information such as flows and client connectivity must be gathered 

Correct Answer: D 

Reference: https://documentation.meraki.com/General_Administration/Monitoring_and_Reporting/Meraki_Device_Repor
ting_-_Syslog%2C_SNMP%2C_and_API 

 

QUESTION 3
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Refer to the exhibit. What is an advantage of implementing inter-VLAN routing on an MX Security Appliance rather than
performing inter-VLAN routing on an MS Series Switch? 

A. The MX appliance performs IDS/IPS for inter-VLAN traffic. 

B. The MX appliance performs AMP for inter-VLAN traffic. 

C. The MX appliance performs data encryption for inter-VLAN traffic. 

D. The MX appliance performs content filtering for inter-VLAN traffic. 

Correct Answer: A 

 

 

QUESTION 4

Which API endpoint clones a new Organization? 

A. POST /organizations/clone/{organizationId} 

B. PUT /organizations/{organizationId}/clone 

C. POST /organizations/{organizationId}/new 

D. POST /organizations/{organizationId}/clone 
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Correct Answer: D 

 

 

QUESTION 5

For which two reasons can an organization become "Out of License"? (Choose two.) 

A. licenses that are in the wrong network 

B. more hardware devices than device licenses 

C. expired device license 

D. licenses that do not match the serial numbers in the organization 

E. MR licenses that do not match the MR models in the organization 

Correct Answer: BC 

Reference: https://documentation.meraki.com/General_Administration/Licensing/Meraki_Licensing_FAQs 
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